***USE A METRIC TONNE = 1000kg

Mass

Name:

1. How many kilograms in 0.0561 tonne?

O b5.61 O b56.1
O 56 O 561
2. There are grams in 4%

kilograms.

3. What is the weight of the basket?

& &

total weight = 410g total weight = 350g

12
strawberries

15
strawberries

O 20g O 100g
O 60g O 1109
4. After losing 15% of his
weight Eddie Elephant m
weighed 4662kg. What
did he weigh before his 4662kg
diet?
O 5484.7kg O 5403.7kg
O 3108kg O 3962.7kg
5. 8 apples weigh 1.52kg. How much

does the small pink weight weigh?

10.

27000g 0.125¢

??kg

The combined weight of the animals
is 2303kg. What does the pig
weigh?

O 62kg
O 63kg

Sand costs £42.50 per tonne. How
much for 1350kg?

O £57.14
O £57.38

O 64kg
O 65kg

O £57.85
O £58.05

Average weight = 32.2kg: Number of
students = 27. Combined weight =

O 8.694t (O 0.08694t
O 0.8694t O 86.94t
8.0001t - 65.8kg x 12 =

kilograms

%‘l’ + 0.58841 + 911 .6kg =

tonne

A =hx o
A=10x a
a=?
O W O »
Bg 15g 20g 50g
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